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A =2y? + x*> = 3xy, B=—4x% - 2xy + 5y
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@ —4x?—x-2 ® —4x®+x-2
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® x*—4x?y? +y*
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— (X2 _y2)2
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1999 x 2001 o] 3t ote] & uff, 714 4

@® m(a+ b) = ma+ mb

@ (a+b)? =a®+ 2ab+ b?
@)(a-b)a+b)=a?-p?

@ (x+a)(x+b)=x*+(a+b)x+ab
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1999 x 2001 = (2000 — 1) x (2000 + 1)
= 20002 — 12
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12. o5 o] xof tiet F54°] HEF A, B & 4 W, A+ B2

%= Fstof=t.

dx-6=A(x+1)-B(x-1)
> H
DgSi=

ot x = -1 ol tiotd,
4x(-1)-6=A(-1+1)-B(-1-1)
-10=2B .. B=-5

T, x =12 o) tidstd,
4x1-6=A(1+1)-B(1-1)
—2=24 . A=-1

L A=-1, B=-5

. A+B=-6
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13, THHA 622 4 x4 22+ 118 x+ 12 e U9

©-33  ©-2 @—11 @ 11 ® 33

f(x) = 222 + x + 22x + 1102} S},
f(x) = (x+1)Q(x) + R4 f(-1) = RO|EZ
f(=1) = ()2 4+ (-1 - 22 + 11=-11




14. oA 8 - 2x% 4+ 50— 62 LA x - 22 H= T YA =?

@ 0 @ 1 ® 2 @ 3 @4

B

f(x) =x*-2x>+5x-6
=(x-2)0(x) +R
L f(2)=2%-2-224+5-2-6
=8-8+10-6
=4
" R=4




15. f(x)=2x3-2x+ k7t x - 22 Yol Wold uj, k9] Zh2?
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2 gelo] oJsf £(2) = 16 -4+ k=0
Sok=-12




i
re,
>
Eha
:%
_0|L
rg

D

]_ 6 . Eg'/‘—} - -
"4 ax+a bx—b
y y

(:) x(a - b) (:) a— b X—=Yy
: a l: a l X y)

ax+ay—
y bx—byia(x+y)—b(x+
= (a=b)(x+V) !




17. 23 +x%-8x-125 5E&sHA (x-3) | olch o] wf, ogtel

e 429

@) (x+2)2 @ (x-2) @ (x+41)
@ (x-3)2 ® (x+3)2
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22 x2—8x-12 = (x - 3)(x + 2)?

L l=Ga+2y
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19. T f(x) 2 202 + 3x+ 22 LHEQIEY Fo] 3x—40]1, A7
2x+50190ek o] W, £(1) 9] Zhe?

®-1  @o ® 1 @ 3 ® 5

B

f(x) = (2% +3x +2)(3x —4) + (2x + 5)
= 62>+ 922+ 6x—8x2 - 12x -8+ 2x+5
=6x34+x2-4x-3

L f)=6+1-4-3=0

f(x) = (2x +3x+2)(3x —4) + (2x + 5)
F1) = (243+2)(3-4)+(2+5) =~T+7=0




20. (x4 —8x% - 9) + (x2 - 9) £ Alitsto et

@x2+1 @ x*-1 ® x?+2
@ x2-2 ® x*+3

xt—8x2-9= (x2—9) (x2—|—1)
L (EA)=x2+1
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@ a=12b=9 @az—lQ,b:Q
® a=12,b=-9 @ a=-12, b=-9

® a=9, b=12

a4 -2 +ax+b= (P +px+q)? =2 EOH
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x* +2x%(px+ q) + (px + ¢)?

= x* +2px3 + (p? + 2¢)x* + 2pgx + ¢*
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x=—-12d,-1-4-14+6=0
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xofl et 4] &% —2x% —x +27F (x+a)(x +b) (x4 ¢) =

o, a? 4+ 0>+ 29 2?7 (H, a,b,c= 8T

o5 @ ® 7 @ 8

W22 —x+2=(x+1)(x-1)(x-2)
A+ +c2=(-1)2+12+22=6




24, F O -8 12 o 4002 ] e FeRee} 4B

247 f(x),9(x) 2 @ T, (3) +g(3) ©] & PRI

® 18 @ 19 ® 20 (@)21 ® 22

B ~
-3 +2x=x(x-2)(x-1)
xt—4x3 + 452 = 22 (x - 2)°
L f() =x(x-2),g(x) =% (x—1) (x-2)?
L f(3)+g(3)=3+18=21
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@® 2 @1 @0 @—1 ® -2
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A7} 5 10|12

X2 +ax+ b2 x% 4+ 3bx + 2a+=

BE ¢ 12 o] HolAof Ak,

2 1l4+a+b=0°1214+3b+2a=0

b, a=-2, b=1

a+b=-1




